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e Use the diagrams to help you work out the calculations.

3
a)8+

What is the total amount of juice in the

two bottles, in litres?
¥
.-l
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. Unit9: Fractions (2), Lesson4

@3 Work out these fraction additions.

q) —Z-+—”— b) r+

10 20
¥
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® Work out the missing fractions.

k | 17 | C | '
a) —+ = — d =+ =1
) 3t T ) 3 [: 2
1
- b 2. =7 e) 2o —" 11
- 30 12
5 :] - _!Z f) S + i = | l
12 6 12
£i
eflect
BX is working out 2 + Z. He says the answer is 3.
Nat mistake has Max made?
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Adding frqctions 2]

G Olivia walks 2 % km on Monday. On Tuesday she walks | % km.

How far does she walk in total?

Add the wholes: 2 + | = D

Find a common denominator:

L
-

- 8

o
4

Add the parts:

+
oo lw

L.
4 8

Olivia walks D; km in total.

Add the wholes:

Find a common denominator: % =

Add the parts: 3,3
5 10

. , |

50,33 4+29_
%2570 1
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. Unit 9 Fractions (2), Lesson 5

__:Work out |3+ . Qﬁ )

14 Work out £ + 3 %.. % 1

= .
\_ >

Explain why 2 % + | % is the same as the answer to part b).
¥
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| Work out the missing value.
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Umt*g Fraet:ons (2), Lesson 5

9 Part of the workings for adding two fractions are shown. '
What could the two fractions be? Complete the answer, | ]
3+5=8 QP —
2,5_4.5
3 6 6 6 :
=4 :
6
R ]
6 )
O=-05-05
) B )
e -
e SO R .«-w

t
e‘ What is the missing fraction?

O,
.»[:

¢

= o . = " R, =%

How can you use 1+ = 5toworkoutlp +337
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| e | Unico: Frocions (2), Lesson 5

ddmg fractions €
: | Workout2 + I 2
:_.'.; ' Change each number to an improper fraction first:
F , L
3 p J- | £ =
> 3 3 q q
* ’,. Find a common denominator: 3 = q
Add the fractions: —g— +7 q =" g
- ol
-.: | 2
B So,2—+1%5= I———
s 37 ' q ’
_II N
Je Convert 2 % to an improper fraction to work out % +2 -Z—
b 1,53 _ [:}[:
: 2 8 . |

L -
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e Work out the following.

| 5 3
242 4 | —
a 2,+3 ) 5+ 20
N . .
) ]
| 7 3
b) 4 | = L 442
) |o+ 3 d6+4%
J

e Washing powder is sold in two sizes.
What is the total weight of the two boxes?

~

The total weight of the two boxes is l—— kg.

) ; : 2 7
& Kate is adding 13 £ and 4
She says, ‘I think I will add the wholes and the parts instead of converting
to improper fractions.’

Do you agree with Kate? Explain your answer.
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{Fi"d the missing fractions in the working out. '
- 6 2

L r ]

)

+

e
. a|2
I

—ia

) Max is making jumps

® on a number line. [Y

} f-e 1=
1

1
4
N (1

a) What number has Max finished on?

F ¢ Bl

b) Max makes one more jump and lands on 12. How long was his jump?
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'Reflec

‘ hlch method do you prefer when addmg 32andlz?

. e o e e
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Subtractmg fractlons &

o Work out2 £ - 2 .
_ qg q ,'
z,_§=_[:_
T ]

b) Work out 3 7—1
8 2°

| _
L, O
37 _1_ Z____
8 2 8
=3:]
c) Work out;

. g e
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}‘ P A bakery sells cherry pies.
4 Each pie is cut into 12 slices.

The bakery has 2 Z pies left.

o i | .
4 A customer buys 3 of a pie.

. How many pies are left?

iz
- & *
i

¥ ‘-

a5 \ J
g

=

L
. There are [___] pies left.
: [

% Work out the following questions. Draw a diagram if this will help.

- a) 224 ) 22-2
E J gy

- b g d) 12-2
A )
. J \ J
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e Two TV shows last 2 hours in total.

Adverts in the two shows last 7 of an hour in total.

The first show lasts 21 an hour.

How long does the second show last?

————i
S e N

LMl e

- | :
The second show lasts D :: hours.

R e e

N T ee——
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How do you know thot 2 T-= lS greater than 2?
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8 8

0], 0 |
8 8 8

50,23 -1-1=2
8 8

2 :]_6 2 =2
a) 1=£- =3 A 15-="=3
777 7 777
2 '_4 2 [:_8
b) 12- 7 D=5 =3 :
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e a) Workout4l—z.
4. 8

| e Calculate the following. .

| w5l 7 9 723

i 3 9 4 7

| |1l 5 2

| by sL_I 42 _2
) 33712 4423
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b " Unit : Fractions (2), Lesson8

4 ¥ 3 sandwiches are each cut into 8 pieces. '

: 2 ; 5
3 Lexi eats 8 of one of the sandwiches. %

~ Danny eats one more piece than Lexi.

.~ How many sandwiches are left?

', There are [:] D sandwiches left.

T T

@ Work out what numbers the symbols represent.
B _
2;-A=13;
5 — 4!
3:-A=41-@

>
i

— = e L Y TR IR A S 3

Reflect

How do you know that 2 2 Lis less than 2?

.
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| Unic9: Fractions (2), Lesson’s . e bock SEpize

Subtracting fractions €)

Subtract the wholes: 3 — | = D

Subtract the parts: g - [ e j = L e ] l
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00 |~

.
|

B N U
B 0. 4l-27- ==
G
& Calculate the following:
& .3 7 4 13
L) 5311 4 35
R TINT 3573

5 7 7 .2
. bp)y52_L L _ £
212 D 25513
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G} Circle the calculations that have an answer that is less than 2.

43-24 7%-6% 53-3 §
4 3 | I 5 19
25-ic 4q-23 63-43

Did you know any without
working them out? How? -

i{ e Three towns lie in a straight line.
The distance between town A and town B is 4 % km.
The distance between town A and town C is 6 % km.

How far apart could towns B and C be?

I think there might be two answers ~
to this. I will draw a diagram to help ;,

| Reflect |

What mistake has Aki made?
43-27=43-25=2%

@
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CUIlEs . Unito: Fractions 2), Lesson 10|
ubtracting fractions @

By converting the mixed numbers to improper fractions first, work out:

E

a5




| Unito: Fractions (2), Lessan 4D

ej Work out the missing values from the bar models:

a)
4

WIiN

b) (

5
WIiN

-

a) How much does parcel B weigh?

Parcel B weighs |

kg.

b) How much more does parcel B weigh than parcel A?

RN T o Y,

Parcel B weighs |

96

[ )

——— kg more than parcel A.
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. Unit9: Fractions (2), Lesson 10

s } Calculate the following:

a) 53-17 ) 5:-32

\P }
b) 53-5 d21-12

\} }

Explain the method you used. Explain why you chose
that method.

- Look at these two calculations. What is the same? What is different?

' 2 | 2
45-2¢ and 43-23

¢
L @

q7
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'Unit 9: Fractions (2), Lessoni1

Problem solving - mixed word problems 0

D Alex is reading a book.
He reads . 3 of the book on Monday.

He reads % of the book on Tuesday.

What fraction of the book has he read in total? ]
3 —

\ '

e A rabbit eats -3’- of a bag of carrots in the morning.
In the afternoon he eots 5 of the bag.

a) What fraction of the bag does the rabbit eat in total?

-

b) What fraction of the bag does the rabbit have left?

% | N
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3 . Kate uses these two bags of
" compost on her vegetable garden.

4 How much compost does Kate use
~ in total?

*

( COMPOST 2 | kg) ( COMPOST 4 L kg )

~

A Jen drives from home to the cinema. D
_. ome
- Then she drives to the shops. -

: 3 a) How far does she travel

in total? 3 :
] 2 km cinema

i.'* [

it

b) How much greater is the distance from home to the cinema than the

- distance from the cinema to the shops?
] % , )
_ a9




e'» Complete the fraction pyramid. #~™ - { CHAl{ence
# Work out the number |

% above by adding the

i
% two fractions below.
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Reflect } %
Write a word problem for this calculation:

2214

0

nilw

What is the answer to your problem? ! 3

o - s N
& 3
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A= it IS il D

oblem solving — mixed word p}'oblems (2

B Ebo spends -f% of his pocket money on a present and % of his pocket money
" on a comic book. What fraction of his pocket money does he have left?

'.. N
1

Leo divides a rectangle into three equal parts and shades one of the
parts. He then divides one of the parts into three more equal parts and
shades one of them.

B -

’:- a) What fraction of the shape is now shaded?

& ﬂ

\

3 b) Explain your method.

101




" Unit9: Fractions (2), Lesson 12° .

a Max has a 3 kg bag of oats. He uses ; kg to make some porridge.

He uses 2 % kg to make some flapjack. How many kilograms of oats
are left in the bag?

&

.

@ Kate used 2 J metres of ribbon to tie a present.
Another present needed % of a metre more ribbon than the first.

How much ribbon did Kate use in total?

¥

L.

a Work out the missing numbers:

a) —+ == ¢ -+ =—

5 I5 15 5 15 3

g U e g1,
15 15 15

i02 . 3




W % Unit9 Fractions (2), I.gesson .jl_2
'

@ What is the difference between A and B? Show your method.

1 ] 1 | I 1 | 1
I I 1 I I i 1 I

S

T The difference between A and B is I ——— because

N L

.?‘ Ir—
)

' The perimeters of the |2 cm
' two triangles are equal. 2 ¢M I1cm ,
¥ _What is the length of | 55 €cm

" the missing side? :
o | Zcm

- B LT oA \l-'l&‘.'ﬁl,

flect ‘

o~

questlon did you find most challenging? What did you learn from
W érmg that question?
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